|Sec 6-8: The Binomial Theorem |

The Row Number in Expand each. Write answers in Standard Form.
Rowl——=50 & Pascal's Triangle is
Row2—— 1 2 1 the 2nd Number in 1
1. a+b)= 2. a+b)' =
Ry 0, & each row. ( ) ( )
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1 6 15 20 15 6 1 3. (a+ b)2 = 4. (a+ b)3 =
1 7 21. 35 35 22 7 1A
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Do you seeaconr;ection to Pascal's Triangle and the results of expanding Do you notice a pattern in the exponents?

ReermOer=R) | b 0 _ l Powers of a decrease from left to right
(a 4 b)o =1 ~ 1 (Cl + ) o Powers of b decrease from right to left

1
L = a + b = a-+ b For each term the powers of a and b add to

(a+ b)7 Cl’+ b ) *la +1b ( ) 5 the exponent of (a + b)
(a+b)? = a® +2ab + b2 — 1a? +2ab +1b2 (a+ b)? = a* + 2ab + b?

+b)® = a’ +3a’b + 3ab* + b> — 143 +3a2 2 11p3 3 3 ) , 3
(a+b) a a a 1a° +3a°b +3ab* +1b (a+ b)a = a3 +3a%b +3ab? + b3

The coefficients of each term are the numbers in (a+ b)4 = a* +4a3b + 6a2b? + 4ab?® + b*

the row of Pascal's Triangle that to corresponds
to the exponent of (a + b).



What do you notice about how many terms each has?
(a+b) =1
(a+b)! =a+b

(a+b)2 = a’* + 2ab + b? . There will be 71 4ermg

(a+b)? = @® +3a°*b + 3ab? + b*
(a+ b)* = a* +4a°b + 6a?b? + 4ab? + b*

b
The number of terms after expanding is one more ™M

Expand this: (M + 9@
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The oefficients will be +the F /n
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then the power on (a + b).

Do you notice a pattern with the signs?
(a—b)® = a®*®6a°b@® 15a*b’>20a> b3 D 15a°b* = Hab¥H b®
(a-b0) = at>Ta*kER1a°b*>35a* b3 >35a*b*ES21a*bTHTabsh’

when there is a minus in the middle of the binomial, the signs of the
terms alternate, starting with a positive for the first term.

If (a+b)* =a*+4a’b + 6a*b?* + 4ab> + b*

How would this expansion be different? (a - b)*

(a-b)*=a*-4a’b + 6a%b? - 4ab® + b*
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Coefficients are the numbers in Row 8.

Signs alternate starting with a positive
for the first term.
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Expand. Write answer in Standard Forr e
Coefficients are the numbers in Row 5
Signs alternate starting with a positive for the 1st term.
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Expand. Write answer in Standard Form.

(x+2)*
Coefficients are the numbers in Row 4

Signs are all positive
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Expand. Write answer in Standard Form.

(4x - 5y)*
Coefficients are the numbers in Row 4

Signs alternate starting with a positive 1st term

J@_~M—]_ %“ LM/x (57)}
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Find the 3" term of (g+5)°
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Find the 6th term of (3g - 2)"°
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Find the 5th term of (A- 3)"
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You can now finish Hwk #29 Sec 6-8
Page 356 Show Work to get credit!

Problems 18, 34, 36, 40, 48, 54

Due tomorrow

This concludes Chapter 6!!!!



